cPse 24 Hwz Ke)/

"

& D T = [oi ol 02 k=L 02 0201]
L=1LiLo 04 0al] ki=z1lb2 or 02]

k.s = [ Lo [ LO Oj

‘ & i
§ ﬂ-sLmy = 30
DPNBQ
),AIN— %\l B NA:VU"'%( normal @A: [O 41 . 8 ]
OT_,.A i N. = Vertex nowmel @ C = [ | O 0]
A=[i 2 O] .L é MAB: PRC&MOrmnIaPA'Bf.EO -\ 2] .
§=E71 0 ] Nge= et memal oFBC =T 1 O 0]
=fl 115100 ]
D173 o1 lo\) Ng-'—"— M:[g-ﬁ 0]
‘ “NAE'*N%“ i
~ H;) Po'm‘t B
B, = ambet @ pont 8 = L.k = [002 002 0.04]
BME Alfuse @ Fbt# R = I,_ i(d (NB ’ ,@B>
’éB o —d'—‘——:——-B} é‘(horma[«‘!&" bight devection veeter)
JiL- 8l
PR Lo.88% 0178 0,799 ]
H—.SLM\-\y
B.Spef SPZCm‘ar@ PalhT B F IL l(s < VB. r;L>
|
| (E- B)
| VL= = A#* N, % (N Vi -7
| 3 -l Car 8 ( 8 3) 8
. ' c(vr‘ew ve ctor ) L/\@PQJL@[ roy ‘0% “'SW' L
> B = L o7 o1 0] /dawliw(

BT; tofal @ ot B = :B;;::Bpl;f B_g(ef[luo IIO 4 0'837 ]






Pomt (/7

5(“ FM .Sl'mdlm? you vlea[ ow}y nego[ Fb,wl‘" B QL‘ )oom'f C/

bulF we will need  bath ke part 1)

Ce= Loo2 002 ooy ] ‘

mb

1)

Cap.= La2gsi dDER | 029611

c [ o434 03u4 © Jxlo™®

Spec

C.. =Lo3044 0074 0.291]

Nole ! Sl«.d.hj wedlel does net offect ),‘gb‘rmj at verbees,

PO nt D>

1/'L\}Wl Va[
14 Bl4dl

et at| B, € ds oF Chomge for )oar"&

For  Flat Slwlm& :

-~

Po.‘vf}.s on a &ce bl/ta'%\z/ ,!‘”LAM’I!VLQ—*?.DM
values of- one of that [Liee’s vertees

I“ummqﬁbn @ Pom*‘ D =: INumma‘/)Zn e’
POM"" :P) or @ ,Pﬂ;rff”c

\ c) (zournual M‘Mﬂ

I”um.’mq{yzn Va[m are. I.mply {n+€rpo[af¢ol acnss Fac&s,

e e R e W = ]
R e 01 s —3I¢
Dipy = 3 B, 4 %(;ML = [o002 002 pi04]
gz B + LCop | = [COBB7 pi1227 006 ]

Loty 0580 © ]

)

P

\\

2
ol o BSpeo * '13' C’Spp,(;.

4{@

. 2
Drar = Dyt ¢ Do + Depee = 5 By *31 Cratml

= [ 0. %82 04923 04%0]



* ~ Compawwfw'w mu“‘ g eaall

C@“p“l‘ﬂ*@»} h EDZ"/?!/\, X =y Cross )orOJALF
Byt = el lob 002 ] » [ J []
| gl ¥ 1l0p | = los2 e —
' . 0.0 R
A "//Mlaﬂ) =
i 2 : 75:‘557,7]
E - o , =|-6.932
By = 10 gif | 1= 0,557 6.
gnl *laz] | * Az | 4 |-04832]
109 legd) | 1t L
'lL- [/J NB /QB =

0,96%2.
?%1 = [ 0.)778
g

h

Spec

\/rx—;

an 08575 | [0/8322

04 | % ) ~osw5 '055%
0.
-

4// 8 1 |

g H H

i i

% 070 / yi= bl el b e

0
= 0970 i ‘
4 0.3735 xl;i gzz 05547
CSL £ D% —_0;5 ¥ Wz | . T0832) | “[é
Lo 0 0

=R 6,554 - foss:
fon ™ [ ¥ (09306 — | ~002r | s
0

o 0



: . | ; et 0362~
‘ L = i f] 1 e Lo] = -0
Gt = B L | 8 / ER 5
0 0 \i‘f+3é |

0.8 0 03
Tl P iy ;
3 ,
C e = Y' ‘l [0,5%2] [0.3/;2 ] ; 167 BE
VAR - ~0,7682 |+ |0 9457 = 104 ¥ % 3%:0 G|
0 0 0 0 Tk L cab
Ik v, o lechely zer

s ] \
e 20 ol [s]- ]
V, = ,}? 7L (bete2 iE of \Ued g o 4/
0 ’(5) T |0m N, N, &
0

e 102 [0.3142
\ 7z Lg ¥0,2042 ~ !-0,74?7]
L [0.305 - &
0.077 L r0v3lé7~]
0,296 [ 6.9467
[P0

A R nFuEREaEE _4, w@c( i-B)- Bl

e

NG LSt el
JL D = T S D
0y | * [(7 o 10919 | T O.I% * 64472 \\ L, =012
0@ g 0 | 018l e ~0.8744
lL kb Ny ll’ = [o403 \\\\in
0,680
0,352

= 30
Qpec: 1,0 07808 0,4972\ Py
0 | ¥ [ 104297]" 0,271“%/ = oﬁ ¥ BYD = |0 O .
0 0

6] 0 O
B Vo .1 | (effechve] y)
S S YY) (I

See wex PegR.



lon N()rmal‘s are liwrf\/ , inﬁrpolal—u( germss lce
Ny = N, +4+N, = Losotz -ou7u o]
normalzse > [ 0.28629  ~pspsd O]
NON Mcampu'l'e l«jW‘lnﬁ a+ Pom'f' D Wlﬂlﬂ&w morwmf
D= Tk = [0.02 002 0.04] B oot sl

iz never clanzs

ky (N, 2,,) = [078% 0,150% 4755 ]

~D:p:ﬂ' 5! I
_ (-p)
b lerBf . ;
.Spu.: k (v v;,_> =[a<.,o 0] |
(E-D) 5 B
Vo = IE-DI O Ns*(N;* £.) L

DTo{-. G D},,.(,.—’-DD'#\ =+ :Dspec = [ Of 77[‘// OIIM QO 7,%5]

, ;2) Co)ou; R&R =[o,sao_o 0, 2000 . 5.2000 |

) 1— RGB = L0500 o800 0,200 |

cHvs ]
YIQ = {63 052 on || R 0.3560
0:6 '0123 -0.32 G] = 13:0120
0.2 -052 031]| B 0,2490
HSY ¢ | ‘
\/: ~R_:L%-—LB = 0'500 VGIUQ, Cbna}rﬂnbss)
5 = = m%/&.%—’—@ L 800 Sa"Vrnf"fbr\
’ 4 : 4
H = @erccos [(ﬂ G)+(ﬂ 5>] hue cmf)JC,
fd; &) +(K 5)(&—5)
- Ean D ,
‘\no{c. ] B>[C7 HH 360 - H ~ H= 240 - H = 340 - 70
N4 fean S el 276 °



2)) Rd‘@r&ﬁ«‘m : : (SWP X5y n algan‘uﬂn

l»r'uc, .Drawokj; 2nd
£ g
ochamt
x' ! YI
2 ﬁﬂ' octant

X XOIYo

o | ndteal oF Ikmf)hﬂ alanj XJ Camfu'ﬁhﬁ y—valu.e‘gj Hernte “‘/Mﬂy,
@omPu‘h\ﬂj x-valu&s

:Bas:‘c, Alfpr}»lm:
( FHoat Ax, aly) XY slapé
OQX = X, iR Xo
0‘)’ = Y=Y
Slope = dx & neinl verd B
dy Uilad al
rryés
X = xo

be ([‘n"’ M = rown‘ol()/o>}' bV S ) )/""")
PltPixe | (cound ),y

X = ><+5lopc;



3* cemlJf ) "

A

HA” BW‘“M A]gom‘”tm

me [0,1]

ens’

onc,

+I>+

%)
-X (2)/ +%+2>‘oy 2"!)’

: Paf(v( XOJX<X‘J>(++

Gk [M 43
B
abové wpomf

) =7

PlotPixel (% ,y )
JF(O‘(O )

{ |
v 0{+2(x1»—>(o) +2(y%-v,)

W= 2% (3-y )(y.,+l)+
(y, - yo>Z:>x+:>+2yx, P,
&PC‘/W VY A N )
PhtPicel (x, 3 ),
oPCo’<O)/
d=d+2(y-y,)+20%-%)
else
i
I d‘d‘*QC)(b-)(,)
o

<0 J(O

= X
AR m A A A A

U‘d’ dols ave m:a{po:""/s




colot
gy P2 s 0] L LTl g o]

=[5 el gl ¢+ Lok o)y l0d]
P3 = [IO 0o :[ Oy = [0,‘] 0. 106] ‘
EamET
g Area CP-HR2 P3) — AP, P, P3) A (PP P2)
Awa (PI, P2, P3) hrea (P1, P2, P3) ~ heea(Pi, P2, P3)
04 = p Kol Li=10l a1 | Y-l Hoz
Aea(a, b, c) =3‘g“ (a—b)x(b~¢)“ -
& s 54@&\\& 7.
or pmd«d" = /
) | i
R T e N
colour @ P
¥
Ghe = Bl o C. X Ca '
/. 0'5 ¢ 0:8 . 0,4 2
i CD \.»: O,EQH' O + O 3‘62 0.3 + 01”24'0,]
f : : 01’ 02 16

¢, = [065¥ 0810 0,930 ]

Aea (P1,P2, P3) = 53 Ip-R IR -2 P, -P,) (P,@))T

GRrpa + Lmlﬁz 955

L

¥
=

o L
2&) [10 67 /Q’“(P PZ P = _}LJ_-P P“ 1P, Pg“ - ((P.=P(P,~ 70;)
=L 2 g9 ~3025 = B85
=X 5’%‘%: 0,521 B AM(F P! P3 "_i, Pt P.HZHP,-P_;HQ"‘(('O‘P,)'(f.'@‘j.

f= 5= o2 %w 8 “a gy 3¢ =

E: .3_&_: 0. 1127 Aea( P Pl pg)—r 1P -p )~ (B-P)(P - P))lzzm ‘t



